1HMEERZ &Y SN FREFIFRLES
A EFEEFTET R B
P CHFHELA0E T ERE PR FH2S5A 0 1004 -

LT ae T ¢ gd 2 2k g

(A Tar, /7 odr T4 (B)yees T4 48/ T4 | ¥ 32k
Oz 2,5/ "#,87 D)L "8 ,%F F23 TH
275 p (MEFR ) - T P2 TR PEEEIRY
(A)r%%"%&@:%f% (B) "4, A RiE - A &
(C)zr# 11 Mopss )@ Spat (D) "#f 5 #emidre™ D 8
3. sEsE T 353 b EehE ?

(MEFET (B)h#41% (C)xFam (D)ME* R
L I i G Iy N - )
(A)2 2 4r TRR > &iv P H4g
(B)#rmi4risg ~ 2 T TH

(C)i "By, MFFERA
(D)yiex a4 T% 2 ) Rz
5. 752 a8 3 (T chg !
(A)deB g T > W35
(By233= T4 »a23x728%5

(C)fwz FAdrdiz & 32 F 240 T8 | 2

(D)- & -fdp aips > A 2BE R wo 2l e
6.(AFFL) Peh =27 j 2% ZHFARLL > ToRFmLdpk * 2 ¢
(AYL A7 ac® » ¥fars A4 (B)2L437mdng

(Cyr#EsF - drit- (D) ABEXA A= 8aLw
TATEFEF AT TRehsek ) fe TR OB o B FAp AR R R 2§00 s
FlIER A 5 BRI AApATeFAl Te 8 2 FY o TARFa B Tiehsek | chil:
(AL RFS BREFTHIRF /TSP (2 F) /P AT H a0 4
(B) et d - &5 el /7 G v ARB RE D) % F R 4ok
(Cbes T hihr A8 fofe 3% 27 #% /I d223 3L

S A M M M/ 8 F e LiEeh ¢ W/ A R R

(D) 2k chn BF ;}ﬁﬁﬁ;&/ﬁgkggé RIS I N I A A )

Ry A R Aok R

¥17 > %267



8.7 T i (BAFL) 2 ¢ @FE o BHFHE !
(A)izdh 5 Réee B 2 1884 Fd7a TR BE | BEKFI S KE
(B s 2@ »pe X THHF #2855 R EegTfo, d P

RN Y A -2
(O Ema By T REY - F 2 ZL W TR 5 FR
(D) AL € iR B e e brafid 3mdp > T A X d ok ) e 5 ¥ 2

0. (ticikze) P 4TI Ty o TAIEEE P 2 8 S HE SRR H 0
FodzrMERAE > TN S/ FRBL /TR E
(MR/7B/F B w32 (OF/+/ 2 DH/ 3/

10047 & Ty @ 3oigsadip B E@) 7% g ik g L

EENE P VAR O S O B - 3 . ~z%—ﬁﬁ? PR
AL IR R C R TR R
(A)yzp  (B)

p- ()" e (D)e =
14 A 25FR i A8 "TAR ) ST TAMETRET ER LY
TE (2 G (F) GRE) () REFR (%) (45)
(A)L - A (B)E' z 7 (C)a ﬁ ~ (D)E' z N
R2EFUTALTF A Faniw) PRLE?
() (p ) v T2 0B A EZICG AT B R~ HPE A FRE o iy

AMT M RN A o P RYBE D ERE S

(e)Rz - (B2g) v T2 > FRE FRA= £ o 5= §6 5§ F0% 0 K
T o

(A2 mif @H2RAEY  (B)IEHE » Lofsss
(C) "% > & Wik $ (D)% i » ¥ 0 < p

13752 a0 PEERNEL anEF 2
(A)if >3 Lphpd @ > 2 Faor -
(BYfF 98 3 9 2 7 Feig 4
(C)e»wad  F2 el FIFPF 3L B2
(D)#F~m ik » @3 &> 75 4 g
14752 0 4 epdgip HE" D FE?
(A)iidh (e 4201 5 o 4 oo S0 6 8 f R AT 0 £7 9 TR L
(BYA A Hekih B » K2 4 THPREZ |~ A0 A%
(COF% r&fﬁj“*igﬁ SRR 0 LA ERY Y B AR
<

(D)ZE firk- S84 xins TRAEHR . £ 8%

$2F £ 6F



15. 77ir 52 & (Mze) P RExp2iph B HER?
(A s 5 %
(B)iE Frezae > 3p:
(O)FEHER>Es 22 Fe
(D)# Wmﬂﬁl"-"»fgﬁbﬁ‘*m%m
16.7 7w =8 2 30 (B g ) - 2 dalfz > & !
(AR T2 B L0 2 arX 2 B4 5 GRER - 3 arE 2 i 0 5P 58 R
HEEE e
(B)fiff : s & » 2Ll 8 > & R+ 25 RAE Y o 2L ky o @ FiLie
RABEY S FRA e it
(O TR FR A A2 E RPEY G E vk a5 3 1 RHEFYD
D)gF: T ghd 23 -k ki3I Hi{k- 4 HP E- E &
BB di8%2F) - 2 aned 0 2 TEgRy 2 Lol
(A)FCR TRE (B "%+, 2§~
(CyFsdvr s Thgi, (D24 ;24220
18. (g )T k> ¥ el Bed d2c> NGAF2ZP oy M2 oHg

RATR N0 e g
(AViFshend i > Fpes
(BfFa il g% tddsapai
(Cfgipsag B AT » {FALF wig2 B
(D) s B3t eh o g L% 2 5%38
9. (Fhgd ) -2tz 2 RfgpFo L %o (TAFPIRITE o, g2
LT R R L TRA R o T ML a s T %
gt 4p S eh
(A)EH T 2 e ams %
(B)EF 3l p & chif ok 2 1 § o chic %
(C)EHI A F472 2> X BEF o %
(D)E 2 2 ik e & F il chBe %
20&@%{ﬁw’;?¢é&@mbiqﬁ : &
FgPE 2 IUA R EfRTE  fR (BldE) -2 > TIOIEM R 42 E L L K
TR A RE] ) i e



21 priE (FRERR) - 2 ABBERI B ERLE - T2 o Bt g
(7)) @iz sitagin (2)i5hmh () # & o gres
(7 ) FEIFTL o e (M) EEa% ¥/

(A)“Lﬁ (Byep™ (O)p~~ (D)"p+
CRAI PR ko EU pPREEAT o G Adekd o PEREL R
FoEREERAE 2R - RARL T s hRETRRS B34 Tap 0
N B AR L AR R
MR LS B SRR ehE
(A)ep (Byp~r (CO)rP A (D)e ™
23.Til&§¥1FiBL$w%§%g?
(A)2 =+~ (Bywmd 2l (O)%x i (Dyedgr
249 ~ B g A s [ ATRA o~ RTINS 8 R A jIn
ﬁ‘%%gﬁ BRI T A A@ S, X EE R
SN RS s L L RN N R £ L S

"l

d ARG T aEe g Tkl et e

(A" 7 (B)e = (O p (D)= ~
25. (REFHe ) THRE Fo FERE 3 RERZ 2 2220 Bdriz 0 Tar
o BEAAL A GG o TR A A

(A)EF B ks o wt g k) (B)Rg# &> 2> 7 4ol B2
(C)* Br7 Z'ﬁ?';: LG BT X AT (D)Qﬁ%?f&i’%ﬁﬁ?/{fsﬁ’ﬁ: Sz 2R
26, (ki E )Mty P A AN E o RB2 5 AF L FHT A o

3
*}ifl‘% QFB_’ *g 3

fﬂ

&

(A)E-E % > lﬁﬁm ©z (B)#r & &t ¢ #3553
(C)2 7 frip » wiv P 48 Umiﬁﬂﬁiﬁ’ﬁ{*%

27.F )% ¢ o i BT B T HAL A R eh
(AYhd 2t 2 P> 570 2t
(B)rt o B n G o AT B35 2 4R 2
(C)yF 2% LA HREA ARG (758
(D)2 g7 - 3 %F 2 {7 37+

8. (HF P ) P ARNTEE Trlg AL PRSP N
(M)A 2 & 27 528 FFEFCH 131387 X
(B)aZxinsg% % piwd Az
(Crssash > ARIEA - o k> "22 %
D)HRF 2 A 255 W1 4R ’ﬁ%%ﬁl‘%%‘&i‘i?ﬁ BT B

47 0267



g ’FL

29 Tksr=L— & et (BMIEQ) ¥ > vl BEBLD & L@ % > HH
%%°Eé“$iiﬁ%’@ﬁiéw&’i%ﬁﬂii%’éﬂ%%élﬁﬁ
Ay = ek o T 8 L PO a0 %7 5 e TR e

A
7 A g f‘f’lcﬁ.’{}f{rﬁljuvé#_irﬁ;§a}@ﬁ)\
(A)"?E #B *E (B)}"f_\E{ ‘:;E' 43 T op X
(C)pe A §"xi§;1€'»ﬁg (D)% &3 w5 b

30. (Bfrdm )t TH &2 | A w2 B o p AR o A HARE T B o f’f—*ﬁ’;g -5

STR et g A0

(A)fr&> (B)glse®d  (C)piE  (D)ERA
3L<u§g@wrﬁi—i@%’%ﬁéw:fw E ERRE NI RN e ¥
EFo o lgy TR M RS RuE A A

(A)E Lz #rrifpzr s LFARA iz ¢ gty
(B) "ot 2855 | - 3 EM > Rdpihh > 44y T
(CRPEX T X b » &3 fR40F Y KF L #2 v
(D)F7 # 2 2 izzbwmaeira § R

REERB AL At > TG M (BFE) - PR T

~ P

& 14

\

PR Al R A
(Ao 1T % (77 fEbmal > 2?;]@ cded A3 L AL AR PRt

A=

a7 !
(Byp 2gpskaw (T2 28 5 2 =

RO R 2R enig 33 & W
(C)if &R B & 2> b jhek
(D)afwe :Tx3 ke ?

F LBV B
BOLE L enfmos B 4

33 kAR g 2 B b o RFW T LT 1 ) g2 %ﬁim EORR A
ER I E LR I I O W % L N AR IS S5 SRR - S U I L T

EIF P LA ?
(A)ynap el 1n
(B)E @i 37 5 Mg P A any ¥ Ll i s
(C)yfe P |- ERFERFr LT EEER

LRI Be o BT T L p e T A R A

(D)fsse g4 &7 > g ¥ 19 0 0 2FRAHE 4 - RRFRE O L
& Jp - B OF
3.4 TAS 2w ARFL o FAXLF o FRAF2 AL F 0 AL > S
T B AA PR o) T AR R P

(A)&gz £ (Begi (OFgFLi D)FAER



<

35,8 Wik 2 r R TR SR T ey o A R A TG 2k
(A7 <% 2 (B)AMEL s X £F X
(CO)XBEL > @355 (D)Wl A * - %L 58

36. % BHpap N o Bo @R AN RFER FETOL R 0 FEE TR o
BRI SR - Y 3= L
(A)EZ A2 - BFLe s #2uLE
(B)srz 2 4rz. » 3 dr s 3 o Hvs
(C)mF22ir, B2 2> ffFE > &35
D)=472& w528 F521P

3T (A HtF ge) Tk A ¥ 1 LRI 2 AP PAd 7 HA
T oo deiEE R o) BT A2 o Aped iRl
(A)d g 5557 (B-p2pg > s@g 574
(C)Beluz g » 33hpgakz ¥ (D) R Fh=- 42

38. FrzEe T30 RMEAE
(A)Y*R% 4 (B)txF®m (C)k-kki (D) == 4

30.(FF - 2F) FiTizsr Ay s &/ ARY o £Hpadd > xHem 3 A

[

&
(C)f Bfs A F 4T A2 iz 44T HLPHCFLH o frd oy r b
(D)RHF R g gL in § Wl g i0esip @ s SR
40. T A% A (B R - BEF) 0 Boil AU LA T o L
(A)RBEF T i+ L5 > S8 i
(B)Z ¥ RtrBstat > Rz gk {54
(C)F v P Jricie kip o 4 = | fiFfte
(D)2 Bt > # FF & b chd



NMEERFEY SN EREHIGFRLES

LAk Sk N B

1 2 3 4 5 6 7 8 9 10
C B A B C A D B A A
11 12 13 14 15 16 17 18 19 20
A D C B A D A C D C
21 22 23 24 25 26 27 28 29 30
A D B C D C B D B A
31 32 33 34 35 36 37 38 39 40
C D B C B D B D C A




MNMEERFEY SN EREFIFELES
A ERERE LT BETEFH
FCHERE A0 o T ERF Tl FHE2S A £ 1004 ¢
1. Ja% QS:0363.€**T 71| R — z[ﬁa ? #c ?
(A)ﬁ B O O B

(A) 4 (B) 5 (C) 6 (D) 7 (E) g -

3. ¢ hr- BB AZ £33 E AN 38 oy o

f%‘é%%ﬁ—kl s IR Hex?
AWz B3 (OR-1 D3-1 B

-2

4. @273 2 @9
(A)—3 B)9 (C)3 (D)% (E)é o

5. % x=log2 > | logl6 & 3" T 7|vR— FiEIE 9
(A) 8x B)4x (O (D)x* (B)4* -

6. K== %33 f(x) L x+2 N L 30 R f(—2) 2 Em s ?

(A)2 (B)3 ©—2  (D)—3  (B)iE 7 & ik @se
)
7. %a,b,ciFE :/mflﬁ:f(x) =ax*+bx+c B4t B AT
P ST o 1 AE D
(A)a>0 (B)h<0 (C)e<0 (D)f(0)<0 (E)b> —4ac<0 o N

8. RH = Eyppejaiad » AT L > NEEf()=x—1P—(x—1)+1 HEA; T 5B
EILAR o ATELAR b it bk 2 A gAY o RE Y e ehddR 9
A) (-1, 1) (B) (1,-1) ©) 1, 1) (D) (-1,-1) (B)i § $H4L? o

9 fz‘r\f};yﬁ'{y=f(x):x3_3x2+2x+1:(x+1)3_6(x+1)2+11 (x+1)_5 o ?‘FFB f(X)L_X——
MiTeh- R E R 9

(A)y=2x+1 B)y=2x-1 (C)y=-5 (D)y=11x+6 (B)y=11x-5 -

10. T F|oR— B = S S BPBAE e x dh 3 9
Ay==-1 By=="+1 Oy==" Dy=x-1 Ey=x+xtl-

FLE 4

i

|+
N
i



TG P ERL3x-y+2=082E ML APIT EE > REMRL PAF?

(A)%l (B)—3 (C)% D)3  (E)A%71 54

LART G b TR BERA R A v -2y +1<O09TA A B RPN IR(F )2
(A)(©0,0 B)2,-D) ©(1,-2) O)1,2) (E)(2,0)-

Ce T g b ER(-], K)FI B M 3x44y+3=0 R E At 4 R P Bk
(A)3 (B) 4 ©)5 (D)6 E)7-

C el ARt (22 (pH1)=50 T - B P(3,2) RIT AR P F LA
(AF=(=2,1) @B)FiEs5 OPiefll OHPEFPr EEP LR -

CRA X2y =0 xR R E RS 502
(A)5 (B) 6 ©7 (D) 8 (E)9 -

I (an) B Ear=2 0 an1=3+an o n b E R MATES) (an) TER R F LR ?
A)EFLE7] BEFvE O2£25-3 O)=*5-3 (E)an=30"

CEREVES (a0 rrai=l o mtaz=60 2 H 0w p Sl Rz B9
(A)1 (B) 2 ©)3 (D) 4 (E)5 -

L BZUII30 R E el A o d TR doT AT
35:38°40>48°50> 5125556585960 60: 646568
7072573275277 7880 >85+88>90>91>94:96>96:99 -

Rl% 60 F &~ =%, (Pso) 51 ?

(A) 71 (B) 72 (C) 73 (D) 74 (E) 75 -

CF - e iy (oyi)i=12, 00 ¢l TR R L S u G =3 =4
=2 0=5°Rly¥xhhif e fﬂ(LﬁFE )% g g 7| R- B EL?
@Aa,n ®ae,5 ©O©e,9 @MEaG,5 EG.,4-

C L 3 200 el T 0 3 5 0 BA3 R E?
(A) 64 (B) 65 (C) 66 (D)67 (E) 68

¥2F 02

i

|+
N
i



21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

By AT e ;@@sﬁa}ét4x100;}zﬁ4%,gﬂr

BB PR Rt SRS 22
(A1 (B) 2 ©)3 (D)4

[SREEE: gl A S o7 R 2l BN T-F I K I 1 - S o e pt Y

1 7 1 1
Mg B3 ©3 (D)

FHR- fe DA - S F L
(A)4 (B)>5 ©6 (D)7

=1

*7?
(E)S5 -

1
(E)g °

(E) 8 -

o L R TR

5509

Ho~  FaiE2 > Ry Es

CafR g A QBB 5 - BPEHEE (—3,4) Fcosh2iE?

4 3 -3 —4
(A)g (B) 3 (C)? (D)?

F<sin210°2_ & ?

3 2 1 -1
(A) > (B) BN ©) 5 (D) >

4
(E) 3

N
B

Z 47, 4BC ¥ » < 2+ AB=5> BC=8 » /B=60°+ £ AC £ & ?

(A) 6 (B) 7 ©)43 (D52

(E)24/13 -

¢ dr i) AOB X i i 45 [l & ZAOB 5 120°> £%25 AOB & # ?

167 177 197
(A) T (B) T (OX¥ (D) T

FR T 5% e y=2sin3x I 7

(A)3z  (B)2r (C)ZT” (D)7

BRAL e R S R B
(A) log2 (=5 )= —log> 5 (B) log _,,4=2

207
B2 o
()3

T
(E) 3

(O)log2 (3x5)=(log23 )*x(log25)

(D)log,3 =—log, 2 (E)logx25=21log 5 »

TG e aemP (1,3) 2 % B PR=(—2,5) PIR B4 5w ?

A)3,—2) B)(=3,2) (©)(1,-8)

%3

i

(D) (—1,8)

(E) (—2,15) -



31.

32.

33.

34.

35.

36.

37.

38.

39.

40.

12
WA B P L X{ } ’

T EEAR 0 P BRI H S I y=log, x DR 7

(A) " (B) v (C) . (D) ) (E) )

. i 8] X g} X 0 p

O| &~ O‘ X
was R a=(1,2) b=(-3,4) Lo &pfia b ?
(A)1 (B)3 ©5 D) (—3,8)  (E) (4,—6)¢
A B A
LRE-BRIFIZCHEFIOERRB BT LT3
BFERS 1 e CEBE s 507
E D

(A) 1 (B)2 O3 (D) 2 (E)/5 -

PRI B P 5 (1,2,3) ) KB P By E S SR 0

56 b
{ } 02 %rZX—Yz{a d} P K dc?

3 4 7 8 c

(A)—2 (B)—1 (©) 0 D)1  (B)2-

a%ﬁ%@@%mag{ﬂm ﬂz[xy}’ﬁﬁﬁy?

z w

(A) 10 (B) 15 (C) 18 (D) 20 (E) 24 -

5 2 t
—F|: :|m;‘hf\/ F—&Kiff_—}-'\|:s j|,j’\"§ﬁ§:s?
3 u v

A-1  ®-2 (©-5 OI1 (B)5-

R ABLImEEE P(A)—g ’P(B)Z% . £ P(ANB)2 & 9
5 3 2 ] I

(A) o (B) 2 ©) 3 (D) 5 (E) .

FEPREH P AT EL KRR B S et 51 S0% 0 A K E % f 4R R
HL G 20% o S e R AFE L R ARER S E ST o f 2 g4 F BB S 2
A)02  (B)03 ()04 (D05 (B)06+

@A Acd s 3L 60% it 40% 0 @ A F P 5 30%hA g AP g
10%0 4 40 » FRER 4 - A RANH Y - Fim A R T Mk BT T ’JV}’K [E2
EIE?

(A)90%  (B)80%  (C)70%  (D)60%  (E)50% o

¥4F £ 47F



MNMEERFE? ENIEREFFIFHRLES
A EWEIHEP T BT ¥ 3

1 2 3 4 5 6 7 8 9 10
D C A E B B A C D E
11 12 13 14 15 16 17 18 19 20
A D C E B A B D E C
21 22 23 24 25 26 27 28 29 30
B E A C D B A C E D
31 32 33 34 35 36 37 38 39 40
D C A E B D A E C B




NMIFERZEY £ EREGSFRLES
L1 EFERFFPTFE Y PER
WP HEAEE A0 e T ERE il
S PRER TR FAFE N - BREE NE B3 £ 45 )

1. Passengers are that smoking is not allowed on the train.

A) bullied B) reminded C) created D) performed
2. It's  to feel tired after such a long trip.
A) plastic B) respectful C) normal D) productive
3. The main of smartphones include calling, texting, gaming, social media and camara
shooting, etc.
A) talents B) flavors C) weapons D) functions
4. The coach requested that the athlete put more into training so as to perform better.
A) effort B) violence C) community D) slave
5. Talking on the phone loud in public transport is one of the most  and disturbing habits.
A) distant B) curious C) annoying D) passionate
6. In many parts of the world, ~ towards women's roles in society have changed a lot. For
example, now more and more women can enter the workplace rather than stay home.
A) attitudes B) scenery C) sources D) victims
7. Years of drinking has the man’s health. It’s time for him to quit it.
A) aimed B) recovered C) survived D) ruined
8. The library had ~ cookbooks on everything from Thai food to complex French macarons.
A) environmental B) fortunate C) various D) responsible
9. To prevent the spread of COVID-19, we should  crowded places.
A) treasure B) avoid C) tend D) balance
10. Lisa used to work 50 hours a week, but recently she has decidedto  and spend more time
with her family.
A) cut down B) pass away C) speed up D) throw up
11. After hearinga/an __ speech at the flag-raising ceremony, David made up his mind to study hard
and pursue his dream.
A) loose B) adjusted C) dissolved D) inspirational
12. Sam has gained a lot of weight |, so he decided to start jogging every night.
A) lately B) fruitfully C) soundly D) positively
13. Every year during the cherry blossom season, visitors from around the country  to this city to
enjoy the beauty.
A) flock B) design C) celebrate D) provide
14. There were many foreigners living inmy  when I studied in elementary school.
A) origin B) assistance C) neighborhood D) event
15.My  impression of the people in this small town is that they are very friendly.
A) seasonal B) general C) digital D) playful
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(1)

For years, athletes have been told to just focus on one thing: winning.

Olympic gymnast Simone Biles was one of the best at doing that. But on July 27, 2021, she
decidedto 16 of an Olympics event because of tremendous pressure. She walked away 17
her team had a chance to win a gold medal. It made others realize that is okay to talk about mental
health in sports.

Michael Phelps was an Olympic swimmer. He won 23 gold medals. He has always been open
about his struggle with depression. When someone is depressed, they find 18 hard to experience
happiness or joy. Depression, and other mental illnesses, can last a long time. They can also interfere
with people's lives. Phelps said that watching Biles struggle broke his heart.

Other athletes have also been talking about mental health. Naomi Osaka is a Japanese tennis
player. She left the Tokyo Olympics early. She said the pressure was 19 much to handle.

The International Olympic Committee 20  the struggles young athletes face. In response,
the organization increased its mental health resources for the Tokyo Games, including mental health

professionals and a helpline.

16. A) make up for B) look forward to C) drop out of D) come up with
17. A) even though B) ever since C) as long as D) in case

18. A) this B) that O)it D) which

19.A) so B) too C) even D) very

20. A) is aware of B) is suitable for C) is dependent on D) is confident of
(ii)

No one would go to Egypt 21 visiting one of the Seven Wonders of the Ancient World —
The Pyramid of Giza. A pyramid is a large structure with four sides at the ground level. These four
sides rise upward, slope inward, and meetata 22 . The base of a pyramid is a rectangle, and the
sides are usually triangles. The most famous pyramids in Egypt were built more than 4,500 years
ago. The pyramids of ancient Egypt served 23 tombs. Egyptian kings had themselves 24
with gold and other treasure. The kings built the pyramids partly to keep out people who would steal
the treasure. However, robbers 25  most of the Egyptian pyramids in ancient times. About 80

pyramids have been found in Egypt, but some are now only rubble.

21. A) from B) for C) without D) on

22. A) point B) field C) forest D) fork

23. A) with B) above C)to D) as

24. A) bury B) to bury C) buried D) burying
25. A) went through B) came across C) called for D) broke into
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A) different B) with C) making D) successful E) solves

Intelligence is the ability to learn and to deal with new situations. When a computer or
arobot 26 aproblem or uses language, it may seem to be intelligent. However, this type of
intelligence is 27  from human intelligence. It is called artificial intelligence, or AL

For more than 50 years, scientists have been trying to make a machine 28  artificial
intelligence that is close to human intelligence. So far, they have not been 29 . One reason is that
intelligence involves so many ways of 30 decisions and doing tasks. Scientists have figured out

how to make computers do some of these things but not others.

(i)

A) when B) after C)or D) amount E) later

The Nobel Prizes are named 31  Alfred Nobel, a Swedish scientist, who invented dynamite.
After the invention came into existence, he became extremely rich. And that was 32 he decided
to use the money to honor people who had a dedication to human beings. After exactly five years
after Alred Noble’s death, the first Nobel Prizes were awarded in 1901. At first, there were only five
prizes, and the prize for economics was 33 added to the list in 1969. The winners receive their
awards at a banquet in Stockholm, Sweden. Each winner takes home a gold medal and a certain
_ 34 of money. Sometimes, two or three people share a price. The peace prize is the only prize

that can be awarded to an organization 35  people.

wos BRIk FAFEN - BRELPE R (FAIA £ I5A)

Are you a cat lover? Then you must hear about leopard cats, a species frequently mentioned and
specially protected in Taiwan. The Leopard cat looks similar to a domestic cat, and its picture may
give you the impression of being someone's pet. A leopard cat is smaller in size compared to the
other wild cats, and they have a carnivorous diet like other felines. In other words, leopard cats eat
meat, mostly mice and rats. The leopard cat prefers to live in a forest, but they have also been known
for living near the places where humans live. Leopard cats get the name because their spotted fur
looks like that of a leopard, and their fur colors range from yellowish-brown to silver-gray. This
beautiful fur has led to their illegal hunting in several countries. Their fur is turned into showpieces
or garments because of its leopard-like look. However, their population is still persevering in the
wild and is currently considered of Least Concern according to the International Union for

Conservation of Nature (IUCN) Red List.
$3F 0 £4F



https://kids.britannica.com/kids/article/computer/352990
https://kids.britannica.com/kids/article/robot/353723

Picture A: A Domestic Cat

Picture B: A Leopard Cat

36. What is the main idea of this passage?

A) Family cats. B) The habitat of leopard cats.

C) The fur of leopard cats. D) An introduction of leopard cats.
37. What do leopard cats eat?

A) Fruits and weeds. B) Mice and rats.

C) Rice and vegetables. D) Grains and feeding stuff.
38. Leopard cats get the name because

A) the spots on the fur B) the size of the body

C) the food they eat D) the habitat they have
39. What does a leopard cat look like?

A) A domestic cat. B) A crocodile. C) Arat. D) A mouse.

40. Which of the following descriptions about this passage is TRUE?
A) Some people keep a leopard cat as a pet.
B) The fur of a leopard cat could be different in colors.
C) The illegal hunting of leopard cats results from the decline in population.

D) Leopard cats cannot be found near the places where humans live.
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1. The government has introduced a new law that the exposure of any tobacco product on TV.

A) situated B) shone C) prohibited D) sparks

2. He tried to book the ticket for a concert the next day. But with no , all the tickets had been
sold out.
A) luck B) destiny C) fate D) crater

3. This machine is not easy to fix. Itisvery  and has many different parts.
A) civil B) complex C) calm D) circular

4. It has rained heavily for many days, and the rain has caused the  of the villa near the slope of
the mountain.
A) criminal B) citizen C) collapse D) content

5. After forty minutes into the marathon, John was leading by 400 meters  of the other runners.
A) ahead B) around C) together D) along

6. During the COVID-19 pandemic, individuals should apply social ~~ methods, such as staying
at home, limiting travel, and avoiding crowded areas to protect themselves.
A) dividing B) distancing C) deleting D) decorating

7. This book is very interesting and  , and I enjoy reading it.
A) moody B) informative C) rude D) fleeting

8. According to the doctor, it will take her two months to from the injury.
A) sign B) annoy C) recover D) control

9. Many scientists believe finding a solution to this problem is one of the major  today.
A) challenges B) treats C) individuals D) surroundings

10. Drivers who exceed the speed limit on the highway willbe  heavily.
A) announced B) fined C) pressed D) researched

11. Many teenagers live on small ~ and cannot afford to buy much. They have to try hard to
save money.
A) relative B) image C) budget D) comedy

12. He didn’t say anything, but I could tell from the look on his face that he didn’t ~ of my
plan.
A) approve B) replace C) envy D) define

13. After Russia's invasion of Ukraine, more than 11 million people have left their homes. Poland
has received more  from Ukraine than the other European countries.
A) themes B) refugees C) objectives D) species

14. Jack’s faithful old dog  him everywhere he goes.
A) succeeds B) reduces C) retires D) accompanies

15.  sunlight and sandy beaches make Hawaii an ideal travel destination.
A) Promising B) Courageous C) Plentiful D) Polite



S RF RIS FEFEN - BEREFOER(FE2A £ 204)
(1)

Popcorn is everyone’s favorite movie snack. While we are enjoying this amazing and fun
food, some may wonder 16 this wonderful thing came into being. Popcorn is made by heating
certain kinds of corn. The joyful popping sound comes from the small 17 of water inside the
seed, which causes them to explode when heated. When the seed shell breaks, a sharp noise is made.
After it pops, it is white and 18 . In the US, popcorn became a popular snack in the 19th century.
At that time, not only did people enjoy eating it, they also enjoyed 19 it popping. It was in 1885
that the first popcorn maker was invented by Charles Cretors. By the turn of the century, Cretors had
created and deployed street carts equipped 20  steam-powered popcorn makers. And it fostered
the population of this delightful treat.

16. A) why B) which C) how D) who

17. A) amount B) glass C) cup D) number
18. A) fluffy B) blocked C) pointed D) stuffy
19. A) watch B) watching C) to watch D) watched
20. A) for B) on C) at D) with

(i)

Facial expressions are rich non-verbal clues in face-to-face communication. 21 ,in
electronic communication, especially text-based communication, facial expressions cannot be
transmitted naturally. Therefore, people use emoticons 22 cues to help convey emotional
meaning.

An emoticon is a written symbol, often as 2 or 3 punctuation characters, that 23 the writer's
mood or facial expression. Some examples are: a smile " :-) " or wink " ;-) " or frown " :( ".
Emoticons are often used to tell a reader about the general tone of a statement, and can change or
_ 24 the reading of plain writing. In other words, they have become a 25  resource to enrich

text-based communication.

21. A) Besides B) However C) For example D) In return
22. A) with B) on C)as D) at
23. A) stands for B) ends up C) deals with D) gives up
24. A) pour B) stack C) enjoy D) improve
25. A) popular B) ill C) deadly D) mental
S RER B LERE- BEREFOERE IR (FH2A 0 K20 &)
(1)
A) without B) free C) from D) visit E) what

The bike-sharing system is great for people who live or work in a city, such as Taichung City,
or those who 26 acity. For instance, I live far away 27  the National Taiwan Museum of
Fine Arts, where my art teacher asked us to visit a certain exhibition. If I want to go to the museum, I
will take a bus from my home to a bus stop on Taiwan Boulevard. After getting off the bus, 28
I should do is take out my student ID card or Easy Card, enter the Taichung City YouBike system,
and pick up a bike at a rental site near the bus stop. In this way, I can make my way to and from the
museum 29  producing any greenhouse gas emissions. What’s more, the first half-hour is
_ 30 of charge, and it is the best news for a student like me.

27 £ 47



(i)

A) has surrounded B) held C) in all green D) honors E) exciting

Saint Patrick’s Day is a cultural and religious celebration. Itis 31  every year on March
17th to mark the anniversary of the death of Ireland’s patron Saint Patrick. The day also 32 the
arrival of Christianity in Ireland and celebrates all things Irish. Since 1996, an entire festival of
parades and fireworks 33 the March 17th celebration of St Patrick’s Day. Enjoy traditional song
and dance, watch musical street theater shows, grab some beer and get dressed 34 as you
celebrate Irish heritage and culture. Different towns and cities host their own street parades and
celebrations that are memorable and 35, but Dublin’s St Patrick’s Day is the common favorite.

mos BRI EAHE - B L ER(FE3A 0 £ 154)

Martial arts are fighting skills that people practice for sport, for self-defense, or for self-
discipline. Most of them developed in eastern Asia. The word “martial” comes from Mars, the
ancient Roman god of war. However, most martial arts are not violent. Some martial arts are used
mainly for fighting. Others are about concentration and focus of the mind, though some fighting
skills are part of their training. That is, martial arts require high levels of both physical and mental
training.

It is believed that monks in India first practiced martial arts to encourage people to use their
minds to better control their bodies and therefore put a person at peace. From India, martial arts were
believed to have come first to China, and then on to Japan and Korea. Martial arts can be divided into
armed and unarmed arts. The armed arts use weapons; the unarmed arts do not. In the unarmed arts,
opponents use their feet and hands to strike or wrestle with each other.

Students of martial arts are commonly ranked according to skill level. They wear colored belts
that represent their degree of skill. The darker the color, the higher the rank. The black belt
represents the highest skill level.

36. Where does the word "martial" come from?
A) A Roman god of war.
B) A Korean emperor.
C) A Chinese god of fire.
D) An Indian monk.

37. What is NOT mentioned as a purpose of martial arts in this passage?
A) Sport.
B) Fighting.
C) Focus of mind.
D) Magic show.

38. Where did martial arts originate?
A) The Mars.
B) Europe.
C) Asia.
D) Africa.



39. Which of the following about martial arts is TRUE?

40.

A) All forms of martial arts are violent.

B) Indian monks were among the first to practice martial arts.

C) In the armed martial arts, opponents use their feet and hands to strike or wrestle with each
other.

D) The black belt represents the lowest skill level.

are used to represent the ranking and skill level of students in martial art?

A) Nationalities

B) Different weapons
C) Fighting styles
D) Colored belts
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